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V�:�MHWV���SE�

41.8±0.2147.2±0.3526.3±0.52044±10&)0�/2�

41.8±0.1146.1±0.3525.4±1.12044±50DG*UDSK

40.2±0.3146.8±0.3525.4±0.62042±4*5$33$

3.13±0.0211.55±0.0741.5±0.2146.1±0.3522.6±0.62046±1$/3*(1
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V�=�MHWV���SE�

4.11±0.0214.79±0.0353.80±0.05198.2±0.10&)0�/2�

4.079±0.00914.70±0.0453.5±0.2198.9±0.70DG*UDSK

15.07±0.0254.02±0.06198.1±0.2*5$33$

0.292±0.0021.13±0.014.09±0.0214.76±0.0553.72±0.06198.0±0.2$/3*(1
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V�:EE�MHWV���IE�

1175±30&)0�/2�

251.1±0.7602±21175±80DG*UDSK

1178±3*5$33$

100±1253±2596±21170±2$/3*(1
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V�=EE�MHWV���IE�

182.2±0.50&)0�/2�

92.7±0.4182.5±1.20DG*UDSK

12.8±0.637.6±0.493.5±0.5181.7±0.4$/3*(1

=EE��M=EE��M=EE��M=EE��M0(�0&


